HERMERAALE (B500 MA/HHEAEMEFA - HE)

650

B500EY <= mn ] (#ER)

244.5 511 244 5
OO0 i OO
OO0 = OO
OO =2 °C 1l OO0
OO0 OO
OO0 OO
OOO OO O
OO0 OO0
OO0 OO0
OOO OO O
OO0 — OO O
OO0 - OO0
OOO OO O

1000

S=1:10

B500-H500~ 12001 m X (#t57)
B500-H500~ 1200k & (#458) [HEKTER]

650
h 500 ]
‘ (&)
2%_ 2
I N —— 2
1_ .n>_<<\ / )
[HEktER]) BIAHEEKEL
I
=
N Y
] = =4
-~ N ) BELZIL
= = 1:3
o
N\ RBRE
60 | | 682 ! 60
802
STiEFER
Z ¥R H HI |B= (kg)
MmE-50x 50 (HtER) 500 952 698
mE-50x 60 (HtER) 600 | 1052 7135
mE-50x 70 ($dER) 700 | 1152 1172
mE-50x 80 (HtER) 800 | 1252 808
mE-50x 90 ($dER) 900 | 1352 845
M #I-50 x 100 (#42R) 1000 | 1452 | 882
ME-50 x 110 (Ht=R) 1100 | 1552 919
M #I-50 x 120 (#1E0) 1200 | 1652 | 955
M e (1H%Y)
oAl 3 H{i | 8=
EEREE B500-H500~1200 (#42pB) VN 1.00
BE LA )L 1:3 m? |0.014
HEEA RC-40 m?2 | 0.80

[B & F 1B ]

- FELTHEICFEITLTEHRETSALNDET B,

- FRRKIEIR. BEWH RRIOVILEORR) HoEEfl~1mMET S,

- IR, SRKE, MHOEEDHEATOEICKYBLELGHKENEZERT S &,

- IKMEREDSSE, RESEREBKESKT L-O0RAHKAZRITLSIZ L,

- A mEOESIE., AEICHEO—RMEZHERL. ERHBIE+2TLEKSIRENDH D
KM (LKTLRARD D) [TLEEBEEET D,

XERZBEAICIE, IRNYIENEZHITH-OBRKREMNT,

HERMERLAIR

B | (g500 mE/EmORMEER - B
w R | 1:10 B | 2024.7.1
aig | EEaVY ) — FIEKRSA




B500-H500  (698kg)

HERMERAALE (B500 MA/HHEAEMEFA - HE)

650
75 500 75
S nmaasnam
o~ ARSARSRNS
I P
o
o B
>
g !
N \ ) BEILZIL
S o - 1:3
= (27 ERBE
60 | 682 | 60
802
MExR 1
£ R b3 I B | #12
EETIEE B500-H500 A [1.00
BEILAIL 1:3 m® [0.014
HEBmA RC-40 m2 | 0.80
B500-H900  (845kg)
650
75 500 75
I l% L% i
gr; é? LT 5
S
%cﬁ
Lo\ )
o
S N | mELEL
ol g o - 1:3
S AWRE
60 | 682 | 60
802
MExR (1E4Y)
£ i b3 B | 12
EETIEE B500-H900 A& | 1.00
BEILZIL 1:3 m? |0.014
EBmA RC-40 m2 | 0. 80

B500-H600  (73bkg)
650
715 500 75
=~ ST T2
1o > :
N
§ ©
Lo\ )
=4 1 I
S N L BmELAL
o §_ T - 1:3
= (27 TN mpmE
60 | 682 | |60
802
MExE (1L Y)
% TIEERIES
EERAEE B500-H600 P 1.00
BE)LAXIL 1:3 m?3 [0.014
HiEwa RG-40 m? | 0.80
B500-H1000 (882kg)
650
1715 500 75
2 2%
o S = A
o
oS
g —
=4 1 I
& N )| BELEL
o g_ T - 1:3
= (27 TN gpmE
60 | 682 | |60
802
MExE (1L Y)
% B % | B | BE
B ETEE B500-H1000 ;N 1.00
BEILZIL 1:3 m? [0.014
HiEwa RC-40 m?2 | 0.80

$=1:20
B500-H/00 (772kg)
650
75 500 75
S O iy
Ty
NE
| B\
}=4 | |
& N g BELEL
ol g T - 1:3
= il ARRA
60 | 682 60
802
M xR (1H%Y)
£ h RO B | B2
ERETIAIE B500-H700 A [1.00
BEILAI 1:3 m? |0.014
HEBpA RC-40 m? | 0.80
B500-H1100 (919kg)
650
75 500 75
8 L gy
Ty
N S
| B\
= | |
X N P BELSL
ol g oo - 1:3
= id ERRE
60 | 682 60
802
MR (1EHY)
£ ] RO B | #12
ERERAIE B500-H1100 | & [ 1.00
BEILAIL 1:3 m?® |0.014
ERRA RC-40 m2 | 0.80

B500-H800  (808kg)
650
75 500 75
S N aaasaes !
— ;_'—‘_4\<1
3
& oo
\\%ﬂ
= | |
S N D | BELSL
olg —ooo - 1:3
= el TN R
60 | 682 | 60
802
#MFIER (1HHY)
£ R RO Bf | 12
EEIAIE B500-H800 KX |1.00
BE)LA)L 1:3 m° | 0.014
HEBRA RC-40 m? | 0.80
B500-H1200 (955kg)
650
75 500 75
It l% 2% i
e ék\ L’[? ”””””””””””” T \:"’J“\ \/<f>
S
S
| A\ )
p=4 | |
& N D BELSL
ol —ooo - 1:3
= el TN mE
60 | 682 | 60
802
MF R (1ZHY)
£ i RO B | #12
“ERIEE | B500-H1200 | A& | 1.00
HEILZIL 1:3 m? |0.014
ERBAR RC-40 m? | 0.80

HERMERLAIR

B | (g500 mA/EmAERMEER - HED)
W R 120 B | 2024.7.1
axg | EEaVY ) — FIEKKSH




	シートとビュー
	モデル

	シートとビュー
	モデル


